Name Date

COMPARISON WORD PROBLEMS

Write the correct equation to find the answer!

4 children go to the cinema. They each pay $20. How much do they spend altogether?

?

$20 | $20 | $20 | $20

3 children go to the cinema. They pay $90 altogether. How much do they spend each?

A supermarke+ had 3,305 tins of tomatoes for sale. On Thursduy 950 were sold.
On Friday 1,346 were sold. How many tins were Left at the end of Friday.

3,305
50 1,346 ?

Tom won $150,000 on the lottery. He bought a new car for $44,594.
He then bought a boat for $3%,899 How much of the Lottery win did he have left?

$150 000
$44,599 |$3?,sqq| ?




